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ITE4
— _?a%ﬂﬁu_gﬁu R B LUEe | ERii=| BE wmE
L " E " o E I
T
EE_JE m3 15.995
R 3 14.464
WEFET -
WEEERE HEBE(FLIR—FIH— CP-010758) -4 1.000
INUER(LYF - OyF(4WD) CP-02408) H 1.000
INEE Ly FY -AvF U (KLeL) CP-02405 g 1.000
INERLYF -Ovx (T H) CP-02406) H 1.000
REMRERT
REEMEER T
&‘ygéﬁfgl AR F(SF-12031K2) P 1.000 T7kg/ £
sl ERET
7R EERET
FyyR )L HEEa91)—k m3 0.521
ﬂ’ﬂ;;l;éfﬂi m3 0.962
m3 0.653
WEEA EFa 51—k m3 0.140
ﬂﬁ;;l;éfﬂi m3 0.094
m3 0.082
WEEB EREa9)—F m3 0.281
MK E#R m3 0.207
X4 m3 0.142
WEEC EREaC 5 —k m3 0.124
ﬂﬁ;;kéfﬂi m3 0.100
3 m3 0.091
AAORTF-FodY | ERao9)—Fk m3 0.050
MK E#R m3 0.041
X4 m3 1.069
IFE4
EBE'QH‘?EI%&EEEHI%W R BfL Luts |ERgH=] BEE BE
R E T
Eig -5
N m3 3.440
avg)—k m3 1.116
T
RiE m3 8.278 HLarvo)—rBRYIELE




WEE MKEHR-XERMEREFES

2% TER = ==X iva
hEEA |1
it 7K & #x (t=22mm)
(0.332+0.110+0.076+0.942+0.888-0.011+0.050+0.982+0.900-0.011) ¥0.022 0.094 m3
= 0.093676 4.258 m
X
(1.24+2.02+2.02+2.02+1.60) * (0.096%0.096) 0.082 m3
= 0.082022
BB |2
fif 7K & 4R (t=22mm)
(0.707+0.195+1.017+0.930-0.011+0.843+0.139+0.896-0.011) *0.022%2 0.207 m3
= 020702 9.410 m
X
(1.24+1.24+2.02+1.60+1.60) * (0.096%0.096)*2 0.142 m3
= 0.141926
HEEC 15
M 7K & #R(t=22mm)
(0.395+0.436+0.318+0.645+0.930-0.011+0.947+0.912-0.011)%0.022 0.100 m3
= 0.100342 0.100 m
X
(1.22+0.96+0.78+1.22+2.02+2.02+1.60)%(0.096%0.096) 0.091 m3

= 0.090501




Froy R A—EEaV ) — N IiESE

HEEKAHXY i
A HER B {g | sz 28 (m3)
F1 {(0.9+2.3+0.4)%(0.9+2.5+0.4)—(1.5+1.0)*%(0.9+1.4)}%0.05 0.397
F2 0.4%1.5%0.05%2 & iy 0.060
X 0.521 |m3 1 0.521
FrvAMeg 0.4%0.8%0.05%2 5 0.032
Fa 0.4%1.6%0.05 0.032
1#EfrHh-YEREEHE
F1 0.8%0.8%0.05 0.032
FEEA 0.140 |m3 1 0.140
F2 0.4%0.6%0.05%2 & AT +(0.3%0.3%0.5-0.096%0.096*0.3) *2 & At 0.108
hEEB 1&EfrHh-YEREESHE
(2&EHY)F1 0.8%0.8%0.05 0.032
0.140 |m3 2 0.281
F2 0.4%0.6%0.05%2 {5 T +(0.3%0.3%0.5-0.096+0.096%0.3)*2 I At 0.108
1Emh-YERREN=E
F1 0.4%0.8%0.05 0.016
HEEC 0.124 |m3 1 0.124
F2 0.4%0.6%0.05%2+(0.3*0.3%0.5—0.096*0.096*0.3) *2 0.108
1&EfrHh=-YEREIESHE
HEaARLF 0.8%0.8%0.05 0.032 m3 1| 0.032
——. |[1EFHE-YVERIUEN= 0.0175 m3 1| 0.018
e b 0.5%0.7%0.05




FrvR)Ltr8— MKER-IRBEREHFHES

| &# TER = B{r
it 7K & #x (t=22mm)
1.846+0.080+1.380+0.380—

BT 0.010+0.432+0.090+0.281+0.089+2.763+0.221+0.278+3.120+1.564+0.08 7+0.6 10+1.900+1.659+0.091+1.582+0.145-0.110+0.6 33— 0.770 3
= 0.010+0.984+1.429+0.146-0.153+1.364+0.076+0.103+0.765-0.007+0.957+0.657+0.801- 35.008 nr1n
0.007+0.143+1.154+1.154+0.143+1.065+0.633-0.010+2.045+0.089+0.276+2.100)*0.022 :

= 0.770176
RERHR (1.459+0.386+0.377+0.575-0.135+0.679+0.377+1.245+0.418) *0.022 0.118 m3
= 0.118382 5.381 m
H (1.62+1.62+0.51+0.51+0.5+0.5+2.6+2.6+2.6+2.2+2.2+3.2+3.2+3.2+3.2+2.6+2.6+3.8+3.8+2.4+2.4+3.0+3.0+3.8+3.8+3.0+3.0+1.1+1.1+0.6+ 0.653 m3
0.6)%(0.096%0.096)
= 0.653046
A/3MR  |{14%(0.09%0.98%0.015) +3%(0.09%1.5%0.045)}*2 0.073 m3

= 0.073494




FS32., /0aRUFMKER-IRBEREFES

=L 1 sTE ne EX;
— s, |TKEHR (t=22mm)

NSk ((0.251+0.042-0.001) *¥2)*0.022 0.013 [m3
= 0.012848 m3
K &R (1=22mm % FEAR [ 17mm) 0.028 [m3

(0.848-0.003-0.011+0.050+0.050)%0.022+(0.212+0.212)*0.017

HOaARVTF (= 0.027756 m3

X 0.96%0.96%0.58%2 1.069 [m3

= 1.069056 m3




+T 1RH71=Y
T+ TH#E

2 - N Bifs1 e
FyyR)L m3 6.075
e m3 1.737
N
AOaARF m3 0.466
FR$EET m3 8.278




+T 1XH7=Y

FryvR It A—EREERKRE

) 6263 [ e

600

|
|
F1#EE L=0.9+2. 5+0. 4+2. 3 F1#EEK L1=2.3+3.8
F2%ERK L=1.5+1.5
F3fER L=0.8+0.8
F49ERK L=1.6
£ |- CEN B 1 neE
&g F1 (0.4+0.6) *(0.9+2.5+0.4+2.3) +(0.9%0.6) * (2.3+3.8) ~0.096%0.0960.6%2 1 m3 4.642
F2 (0.4%0.6) * (1.5+1.5)-0.096*0.096+*0.6*4 m3 0.698
F3 (0.4%0.6) *(0.8+0.8) —0.096*0.096%0.6%4 m3 0.362
F4 0.4%0.6%1.6-0.096*0.096*0.6%2 m3 0.373

RYEET m3 6.075
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ERERE A RIR

sEEA (F1)
WiRE B @

600

WEEA  R14FE

sEEC (7 3)

=0 Qp

=

r———""77"
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_ 400 -

600

B | BRI — A He
PR 1REEA F1)0.8%0.8+0.6-0.096%0.096*0.6%3 m3 0.367
IRBEA F2(0.4%0.6%0.6-0.3%0.5%0.3)%2-0.096+0.096%0.3%2 m3 0.192

1 E¥B F1[0.8%0.8%0.6-0.096%0.096*0.6%3 m3 0.367

1 BEB  F2(0.4%0.5%0.6-0.3%0.5%0.3)%2-0.096+0.096%0.3%2 m3 0.144

1 B#C  F1]0.4%0.8%0.6-0.096%0.096*0.6%2 m3 0.181

1 BEC  F2(0.4*0.6%0.6-0.096+0.096*0.3-0.3%0.5%0.3)%2 m3 0.192

1 E2C FJ0.4%0.51%1.5-0.096%0.096%0.51*3 m3 0.292

PRHEET 1.737




+T 1RdH71=Y
RST -o0ar  FEBIEEKRE
(N
OanyF
| | | 5 | | | %
ZF [ N ==X vs =
KiE K53, |0.5%0.7%0.4 m3 0.140
#aanyF|0.840.8%0.51 m3 0.326
RIEET m3 0.466




W B - A ERTm R T TRETR 1K &Y
B |- FK CEN By HE
ERAE TLAR—b m3 10.983

yFr-Ovxy
(4WD) m3 1.463

yFy-Ovxy
) m3 1.463

yFr-Ovxy
Oox%9) m3 1.463
NUF m3 0.624
&t m3 15.995
iy TLAR—k m3 9.890

yFr-Ovxy
(4WD) m3 1.352

e A =D S
(F7LH) m3 1.352

Ly -avdy
k) m3 1.352
NUF m3 0.520
it m3 14.464
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T ‘ 1XH-Y
B |RE-RR CES B HE
RIE 6.049%0.800+2.450*0.550+4.311%0.800+2.450%*0.550 m3 10.983

10.983-(0.400"2x0.500+0.500"2%0.150)* 7~
HBR (0.600%0.300%0.500+0.700%0.400%0.15)~ m3
(0.400%0.750%0.25+0.500%0.850*0.15)
9.890
Al
3> 41)—h |18-8-40BB(0.400"2x0.500~ 7t *¥0.089172/4%0.500) *7 m3 0.538
L Al
3>41)—h |18-8-40BB[0.500"2%0.050%7 m3 0.088
Al
pivg INEY 0.400%0.500%4%7 m 5.600
Al
HLER [HL 0.500%0.050%4*7 m 0.700
Al
ELRER A [Re-40 =100m|0.500%0.500%7 m 1.750
D2
a>%')—h |18-8-40BB|0.600+0.300%0.500-0.05+0.05%0.5%2 m3 0.088
L D2
3>41)—h |18-8-40BB(0.700%0.400%0.050 m3 0.014
D2
pivg INEY 0.600%0.500%2+0.300%0.500%2 m 0.900
D2
HLER [HL 0.700%0.050%2+0.400%0.050%2 m 0.110
D2
B [rRe-20 =100m[0.700%0.400 m 0.280
E3
a>%')—h |18-8-40BB|0.400%0.750%0.25— 7T *0.034"2/4*0.25%2 m3 0.075
L E3
3>41)—h |18-8-40BB(0.700%0.850%0.050 m3 0.030
E3
pivg s INEY 0.400%0.250%2+0.750%0.250%2 m 0.575
E3
LR |$HL 0.500%0.050%2+0.850%0.050%2 m 0.135
E3
ELREREA |re40 =100m[0.850%0.500 m 0.425




TLAR— I E— 1HKH=Y
L |- CEN ==X vs =

FLAR—k

)8 — = 1.000




T 1&Ht=Y
JAIE LY = DE T
(11500
B |HRHE- AR LN B BE
FRE 1.500%1.500%#0.650 m3 1.463
BR 1.500+1.500+0.650-0.500+0.500+0.300-0.600+0.600*0.100 m3 1.352
a>%')—h|18-8-40BB[0.500*0.500%0.300 m3 0.075
iy 0.500%0.300%4 m 0.600
RC-40
A |t=10cm  |0.600+0.600 m 0.360




WE 1EHY
JLyF-O0vF> (4WD)

2P [HRE-ERK N B {1 #H=
X
Av¥> [4WD H 1.000




+T 1EH1=Y
Lbyxo -Ovx (FUoh) EET
e \‘\ VN
- ‘\>4’,, o A
(N D)
- n
| ‘ ;‘
1500
L |- N B e
&g 1.500%1.500%0.650 m3 1.463
R 1.500%1.500%0.650-0.500%0.500%0.300-0.600%0.600*0.100 m3 1.352
a>41)—k[18-8-40BB|0.500%0.500%0.300 m3 0.075
T 0.500%0.300%4 m 0.600
RC-40
EiEA [t=10cm  |0.600%0.600 m 0.360
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yF -Ovx o (OO )) BT

‘\ \\ /\\\

)//\ T {\"“)

£ J ’RJ )

‘\ ( 4 ( ‘/’

\ |

\\\\71\;\ ] < J 7//)

1500
£
&g 1.500%1.500%0.650 m3 1.463
HE 1.500%1.500%0.650-0.500*0.500*0.300—0.600*0.600%0.100 m3 1.352
a>41)—k|18-8-40BB|0.500%0.500%0.300 m3 0.075
T 0.500%0.300%4 m 0.600
RC-40

ErERRA [t=10cm |0.600%0.600 m 0.360




bz B

1E&EHZY

Y IBE A= D E A2 7))

}f \L///

A

g - F2 K

CE:N

By

e

yx-
Ay¥>

oox%Y

1.000




+T 1EH1=Y
NOFEBT
ICi o] ¢l
Ja] J<] Bl
J¢] Je] Jol
o] [o] ol
\ \
4
/
— :‘;,Ji,(; M
- /7 T\
/ L;if,‘\ \
. W
\7777 1300
2 |- CEN =X iva =
RiE 1.300%0.800%0.300%2 m3 0.624
R (1.300%0.800%0.300-0.300%0.800%0.100~0.200%0.700%0.200)*2|  m3 0.520
a2 41)—k |18-8-40BB|0.200%0.700%0.200%2 m3 0.056
pivy A (0.200%0.200%2+0.200%0.700%2)%2 m 0.720
RC-40
E A [t=10cm__ [0.800%0.300%2 m 0.480
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